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A solid metal cylinder is of base radius 12 cm and
height 20 cm. By melting and recasting, how nany
cones of base radius 4 cm and height 5 cm can be

| made?

| X Volume of cylinder = 7x12x12x20

‘ = 28B0x cucm

1
Volume of one cone =§HI4K4>¢5

= ml:.u.m:rn
3

BOrx
Number of cones =2880x + =

28807 x3
80

=108

| Qn. 3
A sector of central angle 216° is cut out from a circle
of radius 25 cm and it is rolled up into a cone. What
is the base radius and height of the cone? What is

| its volume?
X Slant height of the cone is equal to radius of the
sector
A 216
Radius of the cone =25
Sl e ey
=15 cm
Heightof the cone = V252 _152
= /625225
= V400 =20 cm
. mﬂﬂfth&ﬂﬂna =§x;rx15;¢15xzn
B =1500 »
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u are 'int tloz 3 Whatistha ratio
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ef the ﬁrst cone be ‘3r' and height be 2h’. |
Radrus of the second cone be ‘5r' and height be |
ISHI'

| & e T 1
. Volume of first cone -§:rx3rx3rx2h
— 67r’h

1
Volume of second cone = a 5rx 5rx 3h

= 257r%h
Ratio of their volume = 6x2r’h: 25x2rh

=6 2D
Qn. 5
Two cones have the same volume and their base
radii are in the ratio 4 : 5. What is the ratio of their
heights? |
m Let radius of the first cone be ‘4r’ and height be 117 |
and radius of the second cone be ‘51’ and height be |
h,"
Vclumes are equal.

That is g:r(m* xh, = —s-r(sr)‘* <h,

N :-zrr’lyxw--:-;-m’h x25
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